SH6EE

EREHE—H

[(EHBEE>S—K)
1| #7 | = B (hEHORREY—SHE FETER [femigeR
= yaEA 1972
B = IDERDRERE > H—DIIFEIRICE T RE
HRER
HISEEBRBIEC K PEBZEREMH
mﬁsupbvaaamag R5 % E R6 F E R7 & E R8 & E
K P I R4 & E ELT 0 EL 0 ECT 0 % EL 0
EEE 0 % ES T 0 ES 1 0 4 ES T 1% E1EE s
erloo-— R 100 % ERER 100 % ERE % R %
N = 4,549 TA 2‘;2; 4,549 FA [T FH Ef%;;’ FH
P 4,035 +H ke 4,113 +H P FH P FH
20 %7 | # B |DEHoRREII—ESE FETER |[eRgeR
E-l YaEA 1972
— DERDRERET > F—DEE(CEY DRE
#RHR
AR A SBSE R 2L
wemn) EA'3 & RUMER R5 & B R6 F E R7 & E R8 & E
K P I R 4 & E ECT 3700 4 BT 3700 ECT 3700 4 BT 3700 %
ES 1 3378 eSS 3295 ES 3321 #% ES e ES Jus
rloo— whE|  89.05 % 2 89.8 % AR % rE %
= ‘f;‘;’;? 6,514 +H 2;’;; 5,855 +H Ej;? FH 2;’;; FH
EEr 5,864 T |xrum 5,232 T  |xuam FA (e FH




